Name :

Score :

Teacher :

Date :

Solve and Graph the Inequalities

1) -48= 3g = -39

D B B B S B e

-17-16-15-14-13-12-11-10 -8 -8 -7 -6 -5 4

2 Bk > 18 and k+3 < 9

)
{ : | 1 | | L1 1 1 1 1 | 1 1

>

1T 17T ¥ 117 T T 1T 1T 1T 71T"1
2 3 4 587 8 9101112131415

3 n<14 or n+2 > 9

)
( : 1 | | l | I I N N | | I

>

I 17T 1 ©r 1T 1 1 11
12 3 4 5 67 8 8 1011121314

4) 1< h+8 <6

D B e S e e e

-9 -8-7-6-5-4-3-2-1012 3 4

5 56 < 7s < 77

)
D B B e B e S

6 7 8 9 10 1112 13 14 1516 17 18 19

4

I
IA
-u..,‘l
o
=
& ]]=3
v

i L1 1 1 1
rrr 1 rrrrrrrr
12 13 14 1516 17 18 19 20 21 22 23 24 25

7) v <12 or v+2 = 10
<ttt

1 2 3 458 7 8 2892 13%
8 3r > 6 and r+4 < 11

)
< : | I I N N | | I l 1 L1

P 11T 11T 1T T 1T 1™ ¥ 11
01 2 3 4 567 8 910111213

Y Y
9 3:=-9.ancl},::5

)
{ : | I N | | 1 1 1 L1

[ R N N N N NN NN SN BN B R
25 26 27 28 29 30 31 32 33 34 35 36 37 38

10 10z < 40 or 6z > 84

)
D N S e e S S e

3 4 56 7 8 91011121314 1516




Name :

Score :

Teacher :

Date :

Solve and Graph the Inequalities

1) -48< 3g =< -39
<t+0-+t+o+—++1+t+t++1+1>
-17-16-15-14-13-12-11-10 -9 -8 -7 -6 -5 4
-16< g=< -13

2) Bk > 18 and k+3 < 9
<—P=r--e+—+t+t+t++t+tt+>
2345678 9101112131415
3 <k<6®g

3) Tn<14 or n+2 > 9

B+ O=t=t=t=t=t=t=t=>

1 2 3 4 5 6 7 8 9 10111213 14
n<2orn=19%

4) 1< h+8 <86
<+ttt @+—1—T1T1+1>
9-8-7-6-5-43-2-10123 4

-T<h=<-2

5) 56<7s <77
D B - e e e e e g

6 7 8 9 10111213 14 1516 17 18 18

8< s< 11

6) S <7 o0r g 24

] 1 | | |
12 13 14 15 16 17 18 19 20 21 22 23 24 25
d<14 or d = 20

7) 6v = 12 or v+2 = 10
@+ttt 0t=t=t=tt=t—>

1 2 3 4 567 8 91011121314

v<2 o v=>=28

8 3r>6 and r+4 < 11
DS 7 - e e e
01 2 3 4 5 6 7 8 9 101112 13
2 <r=<7

99 £ >9 and ¥ <5
D B 7 s s e e e g

25 26 27 28 29 30 31 32 33 34 35 36 37 38
27 <y < 35

10) 10z < 40 or 6z > 84

D B e e s R e

3 4567 8 91011121314 1516

z< 4 or z> 14




